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« Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

. Please check that this question paper contains 36 questions. -

o Please write down the Serial Number of the question before
attempting it. i ’ :

o 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
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General Instructions :

(i) There are 36 questions in all. All questions are compulsory.

(i)  Marks for each question are indicated against the question.

(iii)  Questions from serial number 1 to 16 are Multiple Choice

‘ Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

(iv) Questions from serial number 17 to 29 are 3 marks questions.
Angwers of these questions should not exceed 80 words each.

(v) Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

- (v1) ' Question number 35 is o 4mdp question of 2 marks from History
and Question number 36 is a map question of 8 marks from
Geography.

(vii) Attach the filled up maps inside your answer-book,
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1. Which céﬁhtry broké away from the ‘United Kingdom of the

Netherlands’ after July Revolution of 1830 ? - 1
(A) Belgium
(B) Greece

(©C)  Ireland

(D)  Scotland
OR

Whlch one of the followmg ‘modern countries was not part of
Indo-China ? ; - 1

(A) Thailand

(B) Vietnam

(C) Laos

(D) Cambodia

1830%@@%@3%%@%% {a@gﬁv@maﬂa@m ﬁ'

e g 2
(&) e
®)
(C) IFRevE
(D) Wiedreg

Fgar
FrEfaR qwgmmi‘%ﬁﬁ@ﬁ?ﬁ@%ﬂ@mwaﬂ?ﬁw7
@A) s

B) fagam
(C) <Ry

(D) =wife
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2. Who among the following wrote ‘Vande Mataram’ ?
(A) Abanindranath Tagore .
(B) Rabindranath Tagore
(C) Bankim Chandra Chattopadhyay
D) Nulesa Shastm
et § g frem og maw fawn 7
(A) FEHET caite

(B) e 3
(€) dfE I e
(D) v

3.  Which one of the following statements is not true about Giuseppe
Mazzini ? ‘ . 1

(A) He wanted a united Itaiian Republic.

(B) He founded an underground society called ‘Young Italy'.

(C) He wanted Italy to be 2 monarchy.

(D) | He was exiled for attempting a revolution in Liguria.
e

Which one of the following is truer about Phan Chu Trinh ? 1

(A) He was oducated in the Confucian tradition.

(B) He was influenced by Liang Qichao. |

(C) He wrote the book, ‘The History of the Loss of Vietnam'.

(D) He wanted Vietnam to be 2 democractic republic.

g@qﬁm%ﬁmﬁﬁmﬁﬁﬁﬁawﬁﬁﬁww R
Ry T e T 1 ThHTT FT AR
B) T g TS @ W
(©) o T T TR I O T L
(D) ﬁmﬁmﬁ%ﬁﬁqﬁﬁm’WWt
| S
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R -
(A) T8 FRREE Wy e 2
B o et @ wRw A
©)  wHR T R o T S 3 RO s T o |
(D) T R o AR TS S I S TRd 9

4. Which one of the following states has fhe largest wind-farm cluster ? 1
 (A) Himachal Pradesh '
(B) Tamil Nadu
(C) Gujarat

D) RaJasthan
ﬁmﬁwﬁéﬁmﬁﬁmmﬁmwmﬁﬁrﬂwﬁﬁ§7
(A) e SR

B) W g
(C) TEuE
D) TS
5. What for\ is Moran-Hugrijan famous ? 1

(A)  Atomic energy
(B)  Solar plant
(C)  Coal reserve

D) Oil field
w@mmmm% ?

(A) ] FSl
(B) W TS
(C) @R SR
(D) &
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Which of the following statements is not true about the Simon
Commission ? :

(A) It was appointed by Sir John Simon.

- (B) It did not have any Indian member.

(C) Tt was opposed by all parties in India.

(D) It was set up to look into the Constitutional system in India.

T S ¥ fowe ¥ freafeiea sed § ¥ SR w6 TR 7
A) T Frgfe WS W A R

(B), @ UH ot U WS T A |

(C)  TH 9T § Tl wfed g sfeshR fRa T o

(D) T TS O § T e S e w1 e w6 F e
™ |

By whom are Super Highways being implemented ?

(A) CPWD
(B) BRO
(C) NHAI
(D) PWD

Tar T R T & SR &% H € 7
(A)  F=9 ol i fowm

(B) - dmr wed €A

(C) A TP TSR SR

(D) TT & gesie Fmior fom

‘Why was Narmada Bachao Andolan started ?

(A) To clean the river Narmada
(B) To help people displaced by the Sardar Sarovar Dam

(C) To fight for gendér equality

(D) To build embankments to prevent flooding of Narmada -

32/2/2 , . 6
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(A) T TG F EEE F e

B) Wqﬁmma%mﬁwﬁﬁsﬁlﬁﬁw%m
©) fom A & fow wed

(D) g & a6 ¥ wmE % fu qeddt & o % o

9. Which one of the following public sector plants is located in
Chhattisgarh ? : 1

(A)  Bokaro ?teel Plant |

(B) Bhilai Steel Plant

(C) Durgapur Steel Plant

(D) Rourkela Steel Plant

fefafad Hl&qﬁmﬁﬂéﬁﬁﬁﬁ?ﬁwmﬁﬁ%%?
(&) A T |

(B) Ters sourq A

©) T T d

(D)  US&heT ST I

10. ‘FEDECOR’ is an example of 1
(A) Communist political party in Nepal |
(B) An organisation in Bolivia
€ A sttident organisation

(D) A public interest group

%@aﬁx T ISR 2
A) e § e T we @

(B) afefar ¥ T 9T w
(C) & BF 984 &l
(D) TH HEse G0 G
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11. Which one of the following is a modern form of Qurrénc,y ? o

(A  Gold
(B) Silver
(C)  Copper

(D) Paper notes
frefafes & 9 SiaE g5 B U ey ®9 7 2

(4) @
®B) =
(C) <
(D) &S & A

12. The Informal source of credlt does mot include which one of the
following ? ; 1

(A)  Traders
| (B)  Friends
(C)  Cooperative Societies

(D)  Money-lenders

ﬁmﬁa@ﬁﬁ@m@ﬁa{m%aﬁwﬁmaﬁaﬁmaﬁmw%7
(A =N

B)
(C) Teald wiHfaEr
(D) WEHER

13. Women in Saudi Arabia do not have the right to vote or take part in
public activities. What challenge does this country face ? 1

(A)  Foundational challenge

(B) Challenge of expansiop of democracy
(&) Challengé of deepening of democracy
(D) None of the above

32/2/2 : ‘ | : 8




@ﬁmﬁ%ﬁﬁm%mmﬁwmmﬁmﬁwmm
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(A) S SR IR F A
(B) i & foram ot wHf

(©) P R TSR E E g
D) T A

'14. Which one of the folloWing is the oldest political party in India ? , 1

(A) Communist Party of India — Marxist

(B) Indian National Congress

(C) Janata Dal |

(D) Bharatiya Janata Party (BJP)

g & frefafed 8§ SRS g g e T @ 7

(A) AT FRAE T - A

(B) 9™ U S
(C) a1 &
(D) - 9 S TR E L)

15. Which one of the following statements is false ? | 1
(A) The consumer has a right to represent in the Consumer Court.
(B) The consumer redressal process is very simple and very quick.

(C) Hallmark is the certification maintained for standardisation of
jewellery. -

’(D) The consumer has the right to be informed.
frafafeg ¥ § S S99 7T 8§ ?

(A)  ITIRET H STNRR e ¥ yffAiE s W EER 21

(B)  Ieiih fTaToer SR SEd WXEl O Sgd W ¢ |
(C) e S F TE H G e H A € |
(D) 3ITARH H AT UH OSSR R |
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16. Liberalisation involves which one of the following ? 1
(A) Removal of trade barriers
(B)' Increasing subsidy on fertilizers
) Ihcreasir‘lgk import duties on goods
(D) Increasing export duties on goods

frefafiad § 9 e sawn § i # 2

(A) SR FENEH R EHI
(B) & W e Fer e
(C) el W I Yos T

(D) Tl R ffa {;crq{qew

17. Explain any three features of the ‘Natlon State’ that emerged in

Europe in the twentieth century. ' A , 3x1=3
OR ‘
Explain any three developments in Japan and China that inspired
Vletnamese Nationalists. - . 3xI=3
ﬁﬂa‘rqﬁ@qﬁsﬂi T T aﬁﬁ%ﬁ?ﬁﬁwﬁﬁwﬁml
| G

Waﬁtiﬁqﬁg’s‘ mmmﬁmm f‘sﬁﬁﬁﬁwﬁr
m&a‘{ﬁwﬁ%ﬁmml'

18. How did Dr. B.R. Ambedkar try to improve the conditions of the
Depressed Classes ? Explain any three points. ‘ , 3x1=3

oo o S qwnel B gERY ¥ faw o dam a@m%mmmﬁﬁq7
fordt i frgetl = =T ST |

'19, Explain any three methods of conservatmn of mineral resources in
India. ¥ ' _ 3x1=3

o ¥ wf daed ¥ dww @ G 9 ARE S W B
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20.

21.

22.

23.

24.

25.

26.
- 27.

28.

State the reasons for the location of Cotton Textile Mills in ;
Maharashtra and Gujarat. 3

ey o e § g g ficd % | 3R S wl s Swig FRT |

“The best laws to bring about political reform are those that empower

citizens.” Justify this statement with an example. 3

‘TR QER TR ¥ T Wl ot w9 ¥ S AR B W W € 1
ICRIT Wi 39 %99 # =g faeEEr i |

Explain any three different ways in which pressure groups can
influence politics. 3x1=3

el I i ol F1 e Wi ﬁﬂ?{% e ¥ S o oI A T &

gEd E

e

What are the benefits of Foreign Trade to producers and consumers ? 3
Rl SUR ¥ IRH SR SudEmeSl o @y ¥ 2 ‘

“Agriculture and mdustry are complementary to each other.” Support
the statement giving three points. - 3xI=3

gﬁaﬁm@@%w%l”aﬁﬁﬁgéﬁg&wﬁmaﬁg@ﬁml

How is democracy superior to any other form of government ? Give
three points. 3Ix1=3

WWWWW@@M« Hmi<q6o<§7ﬁ?ﬁr‘g‘€rﬁm!

Explain the role of Information Technology’ in Globalisation. 3

Ay ¥ gE e @ e W R |

Explain three functions of Consumer Protection Councils. 3x1=3

ITRA TR UREE & o N S WE SN |

“Markets do not work in a fair manner when producers are few and
powerful whereas consumers are scattered and purchase in small
amounts.” Support this statement. 3

“mm@%aﬁtméﬁéaﬁimfwﬁ@%%aﬂrwwﬁ
T =@ § A IER § =rea als ¥ e A8 g 1 39 S W g
T | |
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29,

30.

. 31,

32.

33.

34.

Explain any three features of democracy. : . 3x1;.§

AT e A fwaRl @ =men SRm

How has the distribution pattern of the Railway network in the
country been largely influenced by physiographic and economic
factors ? Explain with examples. 2+2=4

3 @ uEeT R @ T B R Saehe ek s e 9
ﬁrﬁwwﬁﬁw%7wﬁq@awaﬁma

Explam twok points of difference between Formal and Informal sources
of credit. ' , ' . 2x2=4

aﬁwﬁmaﬁaﬁwﬁaw%@a‘fﬁﬁwwﬁﬁqr

Explain any four changes brought about in Europe by the Treaty of
Vienna (1815). ' 4x1=4

OR

k Explain any four points about the importance of ‘Ho Chi Minh Trail’

to Vietnam. ' dx1=4

1815 = faer Of 3@ T{{\N ¥ @ T fR IR gRedHl H S q?quq |

I EE

a‘raﬁﬁ%wgémnﬁ il w%mm%mwﬁ@ﬁﬁw
;ST |

Explain the growing role of money and muscle power in political

parties. ‘ 2+9=4

Toifas Tet H 4 et oTauet T H wed g ffter @ Wy Fifw |

Why did the rich peasants take part in the Civil Disobedience

Movement ? Give four reasons. , 4dxl=4

aros fROE 4 GieEe 3rEsT IeieE W o wi faar 2 =) SR ST |
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35. Two features (1) and (2) are marked in the given political outline map
of India (on page 17). Identify these features with the help of the
following information and write their correct names on the lines
marked in the map : : , 2x1=2
(1) The place, where the Indian National Congress Session of
September 1920 was held. S

(2) A place associated with the Civil Disobedience Movement.

: OR
Locate and label the following items with. appropriate symbols on the
same political outline map of India (on page 17) : 2x1=2

(@) Madras — The place, where the Indian National Congress Session
of 1927 was held.

(i)  Champaran — The place of the Movement of Indigo planters.
m%ﬁqnqmﬁm%@mm(qe17mﬁawu>sﬁu2)m
f%’QTFQ%\lﬁmﬁﬁﬁfﬁfmﬁmﬁ%dwgsﬁ(swﬂéw
At W SR T e ®fafee

(1) %Wwﬁwwzoﬁwmmwaﬁﬁwgaﬂmi
(2) wfeT s See ¥ e U WH |

frafafed W 5 WA F 3 TeHite WA (T8 17 W) W ST fa@ q
feame ot 3% W I fafee

() HE-9E e S 1927 ¥ AR TEE S F SR g3 T a |
(ii) W—%Wﬁﬂﬁﬁ@?ﬁmaﬁmﬁmﬁwmi

Note : The following questions are for the Blind Candidates only, in
lieu of Q. No. 35.

(35.1) Name the place where the Indian National Congress Session of
September 1920 was held.

(35.2) Name the place Where the Civil Disobedience Movement
started. - 2x1=2

A ﬁmﬁaﬁaﬁméﬁwcﬁﬁ?vﬁeﬁ%mmm%%mwé‘/

(35.1) 39 T H A TS, tﬂsrfew 1920 ¥ WREE TEE HET F A
gaT o |

(35.2) wwmww,ﬁﬁﬁwmaﬂaﬁmmmgaﬂm«
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36. Three features (a), (b) and (c) are marked in the given political oﬁtline
map of India (on page 19). Identify these features with the help of the
following information and write their correct mames on the lines

marked in the map : ' ' - 3xI=3

(a)  Software Technology Park
(b)  Mica Mine

(¢c) A major sea port

N OR B
 Locate and label the following items on the same political outline
map of India (on page 19) with appropriate symbols : - 3x1=3

@) Madurai — Cotton Textile Industry
(ii) Bhubaneshwar — Software Technology Park

(ii1)  Amritsar — International Airport

TR % BT T IRt - (I8 19 W) § 99 o (a), (b) 3R (o) s
for 7T § | 3T Rl H AR @ el # qee ¥ veEie S 39 9@ AW

P

AR W @R T T w fafgu

(a) HwREAR T
(b) om® @
(c) Y@ 99l W

Al

frfafen 78 &l 9Ra & T 9o [@-AEE (8 19 R) R 39w gl §
fegrT 3t 3¢ g W fafey

@)  TEE - T T s s
(if) TR — Wieaat S aeh

(i) STIW - I TaRE T
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‘Notek:  The following questions are for the Blind Candidates only, in
o liew of Q. No. 36. [' | |
(36.1) In which city is Indira Gandhi International Airport located ?

| (36.2) Name the state where the Kandla‘ Sea Port is located. |

(36.3) Name the western terminal of the East-West Corridor. - 3Ix1=3

iz : Freafafad Tv7 90 gEEH m‘l‘aﬁﬁ%ﬁqﬂw qET 36 F T T g
(36.1) Mﬁﬁaﬁgﬂﬂmwmwﬁﬁ%f%? |
(36.2) W T FH W IR T HEe G qﬂ{ﬁzﬁé \

. (363) oy TR & U R % VY # AW TR |
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Y9 ©. 35 W 35 (g F AU

Outline Map of India (Political)

For question no. 35 and 35 (OR)

U =1 TEr-urtes (TTae)

|

17
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e . 36 T 36 (AU & AU

Outline Map of India (Political)

For question no. 36 and 36 (OR)

ORA &T IQGT- U (TSTHi(dh)

3,300
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